	Mostly Multiplication Test – Grade 5
Name: ________________________

Remember your strategies!

Repetitive addition

Splitting strategy

Place Value strategy

Open Array strategy

Traditional Long strategy 

Traditional Short strategy 

Napier’s Bones

Knowledge (demonstrate understanding of concept of multiplication )
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Answer the following questions using any math strategy.
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Use the traditional strategy (long or short) to answer the following questions:
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       Knowledge      /8    level ______
Thinking/Communication 
(Thinking – demonstrate critical thinking through explanation)

 



(Communication – convey meaning clearly using math vocabulary) 
1.  Use two different strategies to answer the following question:  

32 X 27 =

strategy one:





strategy two: 

Level 2 answers will have minor errors, but correct strategies

Level 3 answers include the less efficient strategies, including repetitive addition, splitting strategy or open array strategies (using only small friendly numbers like 10’s, 5’s, 2’s and 1’s; For example splitting 32 into 10, 10, 10 and 2 instead of 30 and 2) 

Level 4 answers will focus on more efficient strategies, including the traditional strategy.  When using place value (or splitting), open array, or traditional long strategies, numbers are broken into large friendly numbers (e.g.: grouping 32 into 30 and 2)





          




   Thinking level ____         

2.  Explain how the two strategies are similar and how they are different.
	Thinking:

Level 2 answers will only include 2 or 3 ideas that demonstrate some understanding (including, for example, same answers; same question; broke up numbers differently; different names; strategies look different…)

Level 3 answers will include 3 or 4 ideas, including ideas that demonstrate a good understanding of the strategies (for example: both strategies break the number  up into friendly numbers; both strategies use addition, one strategy has less steps, etc…)

Level 4 answers will include 4 to 6 ideas, including ideas that demonstrate a thorough understanding of the strategies (for example: one strategy is more efficient because it is shorter, quicker, and there are fewer calculations; both strategies break the numbers up into their place value columns, one strategy starts at the hundreds place value column, then the tens, then the ones, the other strategy starts with the ones, then the tens, then the hundreds, etc…)




Communication: Level is always based on the clarity of the ideas being expressed, and the math vocabulary being used (use your professional judgment)





          Thinking level ____         Communication level ___

3. Amanda is paying for 27 tickets that cost $5 each.  She knows that she needs to multiply 27 X 5, so she thought; first she must multiply the ones, and then the tens.  She did this:

      27

           x 5 

           35  (first I multiply the ones, which is 7 x 5 = 35)

           10  ( then I multiply the tens, which is 2 x 5 = 10)

           45


She decided she needs to pay $45.Is she correct?  Explain why or why not.

	Thinking:
Level 2 examples: no, because it’s the wrong answer; yes because 7x5 is 35 and 2x5 is 10
Level 3 examples: no, because 27 x 5 is 135, I know because I used worked it out (show work) – shows good understanding because student is able to figure out the answer, but unable to spot the specific error

Level 4 examples: no, because when Amanda multiplied 2x5 the 2 was in the tens place value column therefore it was actually 20x5 which equals 100.  The actual answer is 135 – The student show a thorough understanding because she is not only able to spot the error, but sees the specific place the error occurs 

Communication: Level is always based on the clarity of the ideas being expressed, and the math vocabulary being used (use your professional judgment)








            Thinking level ____        Communication level ____





Overall Thinking level ____   Communication level ____

Application / Communication 
(Application – apply knowledge to context/problems)     





(Communication – convey meaning clearly using math vocabulary)
1. Mr. Wendler needs 210 pickles to feed his hungry class.  A store sells jars of pickles.  There are 32 pickles in a jar.  Mr. Wendler buys 7 jars.  Does he have enough?  How many pickles are left over, or still needed?
	Application:

Answer: part 1: 32 x 7 = 224 pickles;  part 2: 224 – 210 = 14 left over
Level 2 – minor errors in calculation, but has right idea

Level 3 – correct answer to first part (224), any strategy
Level 4 – correct answer to both parts (224 pickles, 14 left over) using an efficient strategy (traditional, place value, Napier’s bones, open array using large numbers (30 and 2, not 10, 10, 10 and 2)
Communication: Level is always based on the clarity of the ideas being expressed, and the math vocabulary being used (use your professional judgment).  With application questions I also look at labeling, use of formulas, and sentence answers.







Application level _____           Communication level _____

2. An artist planned to use 44 cm of string to make a craft (a dream catcher).  How much string will he need to make 58 dream catchers?
Application:

Answer: 44 x 58 = 2552 cm required
Level 2 – minor errors in calculation, but has right idea

Level 3 – correct answer, any strategy

Level 4 – correct answer using an efficient strategy (traditional, place value, Napier’s bones, open array using large numbers (40 and 4, not 10, 10, 10, 10 and 4)
Communication: Level is always based on the clarity of the ideas being expressed, and the math vocabulary being used (use your professional judgment).  With application questions I also look at labeling, use of formulas, and sentence answers.




Application level _____           Communication level _____

    

 Overall:  Application level _____           Communication level _____

BONUS:  (You can decide, based on your class, whether you want to use this question as part of the test, or as a bonus question) 
3. A large castle has 118 rooms, each with 3 chairs (4 legs each).  There is also a great hall with 14 tables (4 legs each) and four stools at each table (3 legs each).  The king wants to put gold footings on each leg of all this furniture.  How many gold footings will he need?
Application:

Answer: 
Rooms: 118 rooms x 3 chairs = 354 chairs x 4 legs = 1416 legs (footings)
Great Hall Tables: 14 tables x 4 legs = 56 legs (footings)

Great Hall Stools: 14 tables x 4 stools = 56 stools x 3 legs = 168 legs (footins)

Total: 1416 footings + 56 footings + 168 footings = 1640 footings
Level 2 – minor errors in calculation, but has right idea

Level 3 – some correct answers (2 of the 3?), but total not correct

Level 4 – correct answer using an efficient strategy
Communication: Level is always based on the clarity of the ideas being expressed, and the math vocabulary being used (use your professional judgment).  With application questions I also look at labeling, use of formulas, and sentence answers.




Application level _____           Communication level _____

Now try this, just for fun, or for bonus marks:
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Mr. Wendler had a bug collection.  He could fit 31 691 bugs in one bug basket.  He had 312 bug baskets full of bugs at home.  He was going to put them all together to bake a special cake for the class.  How many bugs were in the “special cake” he made?

Napier’s Bones is the best strategy to use here.
Answer: 

9 887 592 bugs
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